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QUESTION 1

Which two statements describe the Contrail vRouter? (Choose two.) 

A. It is forwarding plane that runs software on a virtualized server. 

B. It extends the network form physical routers and switches into an overlay network hosted in virtual server. 

C. It is responsible for providing the management, control, and analytics functions of the virtualized network. 

D. It provides the logically centralized control plane and management plane of the system. 

Correct Answer: AC 

 

QUESTION 2

Which two statements are correct about current data center designs? (Choose two.) 

A. Network functions are being virtualized. 

B. Public IP addresses are easy to obtain but not manage. 

C. There is a proliferation of distributed applications. 

D. There is a proliferation of monolithic applications. 

Correct Answer: AC 

 

QUESTION 3

You need a security management solution for your data center that will support centralized network visibility and control,
J-Flow collection from existing perimeter devices, and SIEM. In this scenario, which two products should you choose for
your data center design? (Choose two.) 

A. vSRX 

B. Security Director 

C. JSA 

D. Sky ATP 

Correct Answer: AC 

 

QUESTION 4

You are designing a DCI strategy. You must provide a solution that meets the requirements shown below: 

-sub 50 ms failover to alternate path -supports L2 and L3 VPNs -supports traffic engineered paths 
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Which technology would satisfy the requirements? 

A. MPLS 

B. GRE 

C. BGP 

D. IPsec 

Correct Answer: A 

 

QUESTION 5

Which statement is correct about a Junos Fusion Data Center fabric deployment? 

A. Each aggregation device is managed separately. 

B. Each satellite device is managed separately. 

C. At satellite devices are managed and configured by an aggregation device. 

D. All satellite and aggregation devices must be running the same version of Junos OS. 

Correct Answer: C 

JN0-1301 PDF Dumps JN0-1301 VCE Dumps JN0-1301 Exam Questions

Powered by TCPDF (www.tcpdf.org)

JN0-1301 PDF Dumps | JN0-1301 VCE Dumps | JN0-1301 Exam Questions                                3 / 3

https://www.geekcert.com/jn0-1301.html
https://www.geekcert.com/jn0-1301.html
https://www.geekcert.com/jn0-1301.html
http://www.tcpdf.org
https://www.geekcert.com/jn0-1301.html
https://www.geekcert.com/jn0-1301.html
https://www.geekcert.com/jn0-1301.html

